[ Efficiency vs vertpos |

~ 0.7

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05

0.04f [+
0.03H}
0.02fH

0.0

Of7t

B

Ratio

0.9

0.8l . .
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase

Efficiend —— DQM_CKF_TT_retrainOldFiles113
ICIeNd __,__ DQM_CKF_TT_retrainOldFiles125_v2

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01
e

Ratio

[y

0.95

0.9°

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~ 0.5

= E E E E
0. 0.45E - fTye s .
1S : E : :
gy OAF
£0.35F et P :
R R R S

lency

.......

[} ' . H .
£0.25F i Preeeeedee
(] F B H H .
I SRt B
T ST RS S s
S A
Q05% +"¥;;'?;+¢++ """""" +"ﬁ+ B
N L A Al
o l'u*": o 0 o
T H 2 5 5
o 1;»—-1.—"—0? : -4 -..?-1.—1.- B LT
oot L1 EL L HAE L] B
55 0 5 10 15 20

éim. PV z (cm)




	Contents
	Page 1


